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Figure 1. The corn plants shown above are unevenly
spaced.
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Figure 2. Tape measure placed next to a corn row.
(All calculations in this guideline are based
on inches. If centimeters are used,
estimated yield losses will be incorrect.)
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Figure 3a. Example spreadsheet for calculating plant
spacing uniformity. This example uses
Excel.

A B C

The equations used in
column B

1 (enter row
spacing inches)

2 =A2-A1

3 =A3-A2

4 =A4-A3

5 =A5-A4

6 =A6-A5

7 =A7-A6

8 =A8-A7

9 =A9-A8

10 =A10-A9

11 =A11-A10

12 =AVERAGE(B2:B11)

13 =STDEV(B2:B11)

14 =(B13-2)*4

15 =(1/(C1*B12))*144*43560

Figure 3b. Example spreadsheet showing equations
used for calculating plant spacing
uniformity. This example uses Excel.
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A B C

Measured location Spacing between each
of each corn plant pair of plants measured

1 0 30

2 2 2

3 17 15

4 33 16

5 38 5

6 39 1

7 44 5

8 52 8

9 55 3

10 60 5

11 68 8

12 Average 6.8

13 Standard deviation 5.116422

14 Estimated yield loss 12.465688
bu/A

15 Plants/A 30748.24
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4 bu loss
A

in. of SD

5.12 - 2 in. SD 12.5 bu loss
AX =������� ���������

Your calculated SD

Plant
Population
(plants/A) average spacing x row width

within row spacing

Your average
from cell B12

Your  row spacing
from cell C1

144 in.2

ft.2
43,560 ft.2

A= 1
X X
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